



**Revelry Event Designers**  
 3604 Medford St.  
 Los Angeles, CA 90063  
 (323) 263-1657

**IN-0008498**

Iconic Event Studios

01/05/2026 09:00 AM | Loading Trucks  
 01/06/2026 09:00 AM | drive to utah  
 01/07/2026 09:00 AM | install day 1  
 01/08/2026 09:00 AM | install day 2  
 01/09/2026 09:00 AM | install day 3  
 01/09/2026 05:00 PM | welcome party  
 01/10/2026 08:00 AM | strike welcome party  
 01/10/2026 09:00 AM | install day 4  
 01/10/2026 05:00 PM | ceremony/reception  
 01/11/2026 09:00 AM | strike  
 01/12/2026 09:00 AM | strike  
 01/13/2026 09:00 AM | drive to LA

**PO:**  
**Shipping Address:**  
 1 Kayenta Rd.  
 Canyon Point, UT 84741

**Invoice Date:**  
**Due Date:** Upon Receipt  
**Salesperson:** Leigh Carter

Description	Qty	Price		Total
<b>TRUSS COVERS</b>				
Friday Truss Covers - Burgundy (x6) 20'x20": for center box truss; burgundy scuba with velcro (x2) 70'x12": burgundy scuba with velcro	1	\$3,250.00	T	\$3,250.00
Saturday Cocktails - Gold (x8) 14'x12" (x2) 15'x12" (x2) 18'x12" (x2) 20'x12" (x6) 24'x12" (x1) 36'x12"	1	\$4,500.00	T	\$4,500.00
Saturday Reception - Champagne (x1) 60'x12" (x2) 22'x12"	1	\$1,250.00	T	\$1,250.00
<b>Total TRUSS COVERS</b>				<b>\$9,000.00</b>
<b>HOTEL LOBBY</b>				
 Barstools - Shanghai - Natural Wood 21"W x 23"L x 40"H	12	\$25.00	T	\$300.00
 Barback - Tokyo - Straight Basic 6' X 8'4"h - Metal ivory lace 6'W x 18"L x 8'4"H - Frame Color Upon Request	2	\$300.00	T	\$600.00
 Bars - Geometric Natural Wood - 8' 8' x 2' x 42"	1	\$650.00	T	\$650.00
 Bars - Sedona - Light Marble 6'W x 18"L x 40"H	2	\$450.00	T	\$900.00
<b>Total HOTEL LOBBY</b>				<b>\$2,450.00</b>
<b>WELCOME PARTY (1/9)</b>				

Description	Qty	Price		Total
 <p>Dj Booths - Burgundy Velvet Channeled 43" x 32" x 43"</p>	1	\$450.00	T	\$450.00
 <p>Stand Up Tables - Multicolor Wood painted black 14"W x 14"L x 40"H</p>	4	\$150.00	T	\$600.00
 <p>Ottomans - Standard Pod burgundy velvet 18"RND x 17"H - Cover Color Upon Request</p>	6	\$35.00	T	\$210.00
<p>Custom Valance - 80'x24"H for center box truss; burgundy velvet</p>	1	\$1,000.00	T	\$1,000.00
<p>Truss Covers - 100'x12" for ceiling; black scuba with velcro</p>	1	\$1,250.00	T	\$1,250.00
<p>FOH Drape - 30'x4'H burgundy sheer with backing</p>	1	\$650.00	T	\$650.00
<p>Custom Stage Skirts - 40'Lx36"H burgundy sheer with backing; pleated   Velcro on top to be attached to the stage</p>	2	\$450.00	T	\$900.00
<p>Custom Ceiling Swags (8) burgundy sheer big bellies from center truss  Width of the roll, 50'L</p>	1	\$2,000.00	T	\$2,000.00
<p>Custom Ceiling Treatment - 20'x82' burgundy scuba</p>	1	\$8,500.00	T	\$8,500.00
<p>Custom Ceiling Flat Panels - 20'x82' burgundy sheer; (100) in total - 5'W - (42) 5'H &amp; (48) 6'H</p>	1	\$12,500.00	T	\$12,500.00
<p>Custom Perimeter Drape &amp; Pullbacks (1) 82'x18'H wall burgundy sheer, (1) 82'x18'H wall burgundy sheer with backing</p>	2	\$1,500.00	T	\$3,000.00
<p>Custom Gable Wall Drape - 30'H (1) 82'W wall burgundy s. velvet &amp; (2) 82'W walls burgundy sheer</p>	3	\$4,920.00	T	\$14,760.00
<p>Exterior Drape - 16'Wx18'H burgundy sheer with backing</p>	2	\$500.00	T	\$1,000.00
<p>Custom Valance 200'x12"; burgundy</p>	1	\$1,200.00	T	\$1,200.00
<p>Custom Stage Front - Channeled Burgundy Velvet 24'x32"H + (2) 8'x32"H</p>	1	\$7,800.00	T	\$7,800.00
<p>Graffiti Stage Skirt - 44'x24"H burgundy sheer with backing; pleated with velcro</p>	1	\$500.00	T	\$500.00
<p>Custom Truss Covers - 14'H (2) burgundy velvet   (2) burgundy scuba with velcro</p>	4	\$175.00	T	\$700.00
<p>Custom Stage Backdrop - 24'W x 15'H burgundy channeled velvet arch</p>	1	\$15,500.00	T	\$15,500.00
<p>Sofas - Basketweave Fabric - Ginger 99.5"W x 44.5"D x 31" - Seat Height 16.5"</p>	2	\$450.00	T	\$900.00



Description	Qty	Price		Total
<b>CEREMONY (1/10)</b>				
L/Gold R. Velvet - 20'Wx18'H	4	\$500.00	T	\$2,000.00
Custom Planter Boxes - 7'Lx1'x40"H shelf 4" down for oasis to sit in; wrapped in rust dupioni fabric	34	\$1,000.00	T	\$34,000.00
Mini Wall - 250'x40"H Covered in L/Gold R. Velvet to cover railing from ceremony   pocket on top & bottom	1	\$2,750.00	T	\$2,750.00
<b>Total CEREMONY (1/10)</b>				<b>\$38,750.00</b>
<b>COCKTAILS (1/10)</b>				
Custom Curved Panels - Left Upholster in Royal Velvet L/Gold	3	\$2,800.00	T	\$8,400.00
Custom Curved Panels - Right Upholster in Royal Velvet L/Gold	3	\$2,800.00	T	\$8,400.00
 Barstools - Frankfurt - Channeled Boucle - Black 30" x 22" x 45"H	12	\$35.00	T	\$420.00
Accent Pillows gold and black velvet	12	\$28.00	T	\$336.00
 Barback - Bora Bora - Gold (3 Piece Set) 66"W x 14"L x 85"H (Center- 34"W x 14"D x 85"H / Each Lateral 15 1/2"W x 14"D x 85"H)	1	\$300.00	T	\$300.00
Custom Escort Card Wall - 11'Wx8.25'H Channeled with shelves in center covered in fabric - Royal Velvet L/ Gold	1	\$5,800.00	T	\$5,800.00
D. Gold S Velvet - 130'x15'H exterior wall of the cake table room	1	\$3,000.00	T	\$3,000.00
Custom Entrance ribbon treatment - 3 sections for entrance - 4" wide fabric strips in Dupioni 2038 - TBD MEASURMENTS   To be attached to truss and sub floor Paint 3x1 wood matching ribbons	1	\$18,500.00	T	\$18,500.00
 Dining Chairs - Frankfurt - Channeled Boucle Round - Black 24" W x 22" D x 34" H	48	\$30.00	T	\$1,440.00
 Barstools - Tangier - Channeled - Black Velvet 24" x 24" x 38"	42	\$35.00	T	\$1,470.00
 Small Dining Tables - Antique Brass Round 40"Diam x 30"H	6	\$325.00	T	\$1,950.00
 Coffee Tables - Glass And Antique Brass Cube 36.5" x 36.5" x 18"H	2	\$250.00	T	\$500.00

Description	Qty	Price		Total
 Ottomans - Hollywood - Black W/ Brass Base 16"Diam x 18"H	6	\$50.00	T	\$300.00
 Barback - Nantucket - Wood Large Painted Pale Gold 5' x 18" x 5' H - Custom Color Upon Request	2	\$275.00	T	\$550.00
 Barback - Nantucket - Wood Small Painted Pale Gold 4' x 18" x 5' H - Custom Color Upon Request	4	\$250.00	T	\$1,000.00
 Bars - Buenos Aires - Metal Frame 8' Frame and top Painted Pale Gold with alabaster decal print 8'W x 32"L x 43"H - Frame: Color Upon Request. Inserts Available	4	\$1,500.00	T	\$6,000.00
			<b>Total COCKTAILS (1/10)</b>	<b>\$58,366.00</b>
<b>RECEPTION (1/10)</b>				
 Serving & Display Carts - Gold 31.5"W x 13"D x 35.4"H	2	\$175.00	T	\$350.00
Stage Fronts - Santa Barbara - Wood Molding painted champagne 8'W x 32"H - Removable inserts for speakers	6	\$450.00	T	\$2,700.00
 Dining Table - Las Vegas - Colored Top 8'x48" wrapped in black velvet 8'w x 48"D x 30"H - Custom Top & Base Color Upon Request	4	\$750.00	T	\$3,000.00
Custom Las Vegas Dining Table - 6'x48" wrapped in black velvet	8	\$1,350.00	T	\$10,800.00
Pedestals for Cake & Wine Table to raise existing table - painted black - 12"H - same shape as table base	2	\$500.00	T	\$1,000.00
Entrance - Custom Ceiling Treatment - 15'x30' champagne sheer; for entrance	1	\$5,800.00	T	\$5,800.00
Entrance - Custom Perimeter Drape & Pullbacks - 15'x30' champagne sheer; for entrance - send extra for swags	1	\$4,500.00	T	\$4,500.00
Entrance Custom Valance - 90'L champagne dupioni; for entrance	1	\$450.00	T	\$450.00
Custom Ceiling Treatment - 65'x100' champagne sheer	1	\$16,500.00	T	\$16,500.00
Custom Perimeter Drape & Pullbacks (2) 100'; champagne sheer	2	\$4,250.00	T	\$8,500.00
Custom Peak Walls (2) 65'W; champagne sheer	2	\$3,800.00	T	\$7,600.00
Custom Valance champagne dupioni; 200'	1	\$1,200.00	T	\$1,200.00

Description	Qty	Price		Total
FOH Drape - 30'w x 4'H champagne sheer with backing   Send short pipe and base	1	\$650.00	T	\$650.00
 Dining Chairs - Washington - Gold/blush 19"W x 23"L x 37"H	82	\$23.00	T	\$1,886.00
Custom Chair Cushions Ruched Back Seat with Button and Tail with pick ups and full seat cover - Stretch Velvet Rust -	90	\$125.00	T	\$11,250.00
Custom Stage Backdrop Drape champagne sheer with backing w/ pick ups 65â W Pick wall	1	\$8,500.00	T	\$8,500.00
Custom Dance Floor	1	\$9,250.00	T	\$9,250.00
Custom Ceiling Treatment - 16'x48' champagne sheer; partial for cake & wine	2	\$3,000.00	T	\$6,000.00
Custom Perimeter Drape & Pullbacks for cake & wine; champagne sheer	2	\$4,800.00	T	\$9,600.00
Custom Valance - 128'L champagne dupioni; for cake & wine	2	\$650.00	T	\$1,300.00
			<b>Total RECEPTION (1/10)</b>	<b>\$110,836.00</b>
<b>CAMP SARIKA</b>				
Perimeter Drape & Pullbacks - 200'x10'H Champagne S Velvet	1	\$4,000.00	T	\$4,000.00
Perimeter Valance - 200'x12"H champagne valance	1	\$1,000.00	T	\$1,000.00
			<b>Total CAMP SARIKA</b>	<b>\$5,000.00</b>
<b>NOIR ITEMS</b>				
Oval Dining Table	2	\$0.00	T	\$0.00
Side Tables	17	\$0.00	T	\$0.00
			<b>Total NOIR ITEMS</b>	<b>\$0.00</b>
<b>Services</b>				
installers to drive to utah monday	16	\$550.00		\$8,800.00
installers for install tuesday	16	\$650.00		\$10,400.00
installers for install wednesday	16	\$650.00		\$10,400.00
installers for install thursday	16	\$650.00		\$10,400.00
installers for install friday	16	\$650.00		\$10,400.00
installers for install saturday	16	\$650.00		\$10,400.00
standby saturday	8	\$550.00		\$4,400.00
installers for strike sunday	16	\$650.00		\$10,400.00

Description	Qty	Price	Total
installers for strike monday	16	\$650.00	\$10,400.00
installers to drive back tuesday	16	\$550.00	\$8,800.00
per diem for (9) days - lunch provided by client	18	\$526.00	\$9,468.00
supervisor onsite	1	\$6,000.00	\$6,000.00
manager onsite	1	\$10,000.00	\$10,000.00
trucking round trip + gas	10	\$2,750.00	T \$27,500.00
flight roundtrip (price estimated until booked)	2	\$1,500.00	\$3,000.00
rental car + gas (price estimated until booked)	2	\$1,000.00	\$2,000.00
flameproofing & certs	1	\$1,850.00	\$1,850.00
pre-production	1	\$2,500.00	\$2,500.00
dance floor labor & delivery	1	\$2,000.00	\$2,000.00

Please make checks payable to Revelry, Inc.

Note: Prior to deliveries and pick-ups all invoices must be pay in full  
Please ready the contract and sign it

Notes

<b>Total Products:</b>	\$323,348.00
<b>Total Labor/Services/Misc:</b>	\$159,118.00
<b>Wear &amp; Tear (3.00%):</b>	\$9,700.44
<b>Packing (4.00%):</b>	\$12,933.92
<b>Taxes (tax exempt):</b>	\$0.00
<b>Discounts:</b>	(\$0.00)
<b>Total:</b>	\$505,100.36
<b>Payments:</b>	(\$300,000.00)
<b>Balance:</b>	\$205,100.36